ERO#HITREEVE - #R No.2

].. WOFHEE LIS,

(1) (=5) x (=94) = (2) (=1.9) x (=6)
(3) (—8)x29= (4) Tx2=
(5) 46 x 4 = (6) (—19) x (—3)

(7) (=7.6) x (=9.5) = (8) (—6) x 92 =

(9) (—80.9) x (—6) = (10) 7.8 x 5.1 =



2.

WOFHHERZ LIRSV,

6 1 _
) 5x3=

0§ (49)-

(10) = x 14 =



3. koaEEHD GRS ET LA S

(1) (~210) + 0.6 = (2) 5.6+ 0.8 =

(3) (—11.4) + (—0.6) = (4) 310 + (=0.5) =
(5) 17.6 + 4 = (6) (—198) +5 =
(7) 380.8 + (—56) = (8) 256 = (—8) =

(9) (—183) = (—6.1) = (10) (—424.8) + 9 =



4.

WOFHHERZ LIRSV,
RAAES @ (-5)=(-§)=
@ 5+ (-5)= W (-3)+ T -

0B o () (-8)-



5. komEr Lis,

(1) 42+ (=7) x 6 = (2) (—168) = (=3) + 8 =
(3) (—14) x (=8) = 7 = (4) (=81) =3+ (=3) =
(5) (=5) x 3 x 4= (6) (—6) x 54 = (—9) =
(7) 162+ 9+ (~2) = (8) (~2) x 3 x (—9) =

(9) 20 x (—4) + (—4) = (10) (—9) x (—12) + (-3)



6.

WOFHHERZ LIRSV,

4 (-4) (-3



ERO#HITREEVE - #R No.2

1.

WORHEZ L7 S0,

(1) (=5) x (—94) = 470

(3) (—8)x29= —232

(5) 46 x 4 = 184

(7) (=7.6) x (=9.5) = 72.2

(9) (—80.9) x (—6) = 485.4

2) (-1.9)x (-6)= 11.4

(4) 7x2= 14

6) (=19) x (=3) = BT

(8) (—6) x92= —5HH2

(10) 7.8 x5.1= 39.78



2.

WOFHEZ L7z X0,

(1) £

1_ 2
3 5

o %< (-4)-

_68
65

(w)%xbhzlﬁ



3. koaEEHD GRS ET LA S

(1) (=210)=0.6= —350 (2) 56 -08= 7

(3) (—11.4) = (—-0.6) = 19 (4) 310+ (-0.5)= —620
(5) 17.6+4= 4.4 6) (-198) +5= —39.6
(7) 380.8 + (—56) = —6.8 (8) 256 + (—8) = —32

(9) (—183) = (—6.1) = 30 (10) (—424.8) +9= —47.2



4.

WOFHRZ L&y,
1
R )
21
7 1 —
® 5+ (%)= =5

39
o (54 —32



5. komEr Lis,

(1) 42+ (-7)x6= —36 (2) (=168) = (=3)=8= 7
(3) (-14) x (—8)+7= 16 (4) (-81)+3+(-3)= 9

(5) (-5)x3x4= —60 (6) (—6) x 54+ (—9) = 306
(7) 1629+ (-2)= —9 (8) (—2) x3x (-9)= 54

(9) 20 x (—4) + (—4) = 20 (10) (=9) x (-12) = (-3)= —36



6.

WOREE L&,
w3 ()05 5
0 ()3 d-
0 35 (4)(3)= &
RN N



